www.Padasalai.Net T www. Trb Tnpsc.Com

TVLi2P

Tirunelveli Digtrict U [ .'
- Common Second Mid Term - 2024 B '
_ Standard 12
Time: 1.30 Hours . PHYSICS - Marks: 35
: G Part - I 4 :
Choose the correct answer: 10x1=10 :
1) The transverse nature of light is shown in
a) interference b) diffraction ¢) scattering d) potarisatiovn
2) The momentum of electron beam having wavelength 2A° is
a) 6.626x 10724 kgms-1 “ " b) 6.626x10734 kgms-1
¢) 3.315x10-2% kg d) 3.313x10% kgms~!
3) Emission of electrons by the absorption of heat energy is called ...........
emission

4)

S)

6)

7

9)

10y

a) Photoelectric  b) Field c) Thermionic d) Secondary

‘ Two radiations with photon energies 0.9eV and 3.3 eV respectively are

falling on a metallic surface successively. If the work function of the metal is
0.6eV, then the ratio of maxnmum speeds of emitted electrons in the two

Ccases will be
a)adidl 4 - - eRERY 15403 €)1 d)1:9
If the mean wavelength of light from sun is taken as 550 nm and its mean

power as 3.8 x 102® W then the average number of photons received by the
human eye per second from sunlight is of the order of

a) 104 - b) 109273 c) 1054 d) 105!

The radius of atomic nucleus ?]Alis

a)1.2 F b) 2.6 F  ¢)3.6F ' - d)3.2F
The ratio of energies of hydrogen atom in the fire three orbits is '

.1.1 J=1

15 , ;
a) 4.9 b)1:4:9 : c)1.9.4 ‘ d)248

A radio active element has N, number of nuclei at t= 0 The number of nudel

remaining after half of a half life (that is at time t=— /)

- N,/ - ; , 3
2 Nog B s s e N g
The densuty of atomic nuclei is nearly ' ' » o
a) 2.3 x 10Y7 kgm~3 i ~ b) 3.2 x 107 kgm™3

. ©)2.3 x 10717 kgm=3 _ d) 2.3 x 1019 kgm-3

ZA radlo acnve ‘nucleus (mlttal mass number A and atomic number v4) emits two

s ) partncles and 2 positrons. The ratio of number of neutrons to that of

proton m the f‘nal nucleus wiH be

b) d).
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: o any three of the following. Q.No 14'35 co i
. mpulsory 4 ' :
. 3x2=6

: 11)}7_’\_Nhat: is presbyopia?
1.‘;) Eeﬁne : stopping potential
) List any four characteristics of photons

14) The radius
of th i
the 5t orbit of hydrogen atom is 13.,25A°. Calculate the de-

i broglie
glie wavelength of the electron orbitting in the fifth orbit

15) Define: 1 curie.

pPart - IIX

No. 17 is compulsory: 3%x3=9

Answer any three of the following. Q.
16) Give the applications of photocells

17) Calculate the cutoff wavelen
h gth and cut
ray tube of accelerating potential 20,008\1‘; freque

ncy of X rays from an X

18) Writg note on Nicol prism
19) Explain in detail the nuclear force.
20) Discuss the spectral series of hydrogen atom.

part - IV: i
: 2x5=10

Answer all the questions:
21) Obtain the law of radioactivity
' | (OR)
ic equation with n
ntto determiné

anation

ecessary exp!
arge of electron

Obtain Einsteins photoelectr
22) Explain J.J. Thomson experime the specific ch
iefly pDavission - Germ the wave

Jectrons.
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